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The Subject Code No. and the Question Paper Code on the
right side of the question paper should be written by the
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has to select only one most appropriate alternative for each
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The candidate should fill his/her Roll No. with figures in the
appropriate circles of the O. M. R. Sheet.
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Before answering the question, ensure that you have been
supplied with the correct and complete question paper, no
claim in this regard will be entertained after examination.
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A loan has to returned in two_equal semi-annual mstalments

annually and each instalment is Rs 1458 then the sum
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A bicycle is sold for Rs. 1,800 cash or for Rs. 600 cash
down payment followed by two monthly instalments of
Rs. 610 each. The rate of interest charged under the
instalment scheme is,

(A) 13.31%,p.a.
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A ceiling fan is marked at Rs. 970 cash or Rs. 210 cash
down payment followed by three equal monthly instalments. /
If the rate of interest charqed under the instalment plan is / ,
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A bucket made up of a metal sheet is in the form of a
frustum of a cone. lts slant height is 26 cm _and the
diameters of the top and bottom are 30 cm and 10 cm
respectively. The tofal surface area of the bucket is,

(A) 545 mcm? (B) 520 mcm?

(C) 325 mcm? (D) 2600 = cm?
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Tax imposed on an individual annual income is known as,
(A) Sales Tax
(C) Capital Tax

(B) Income Tax
(D) Excise Tax
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(B) ay2 +by+c=0

(D) ay2 +by=0
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